FRIFE PRUBRREREZRER

H31.1.1IR7
(Bif: A)
i . ﬁﬁ.i = Btk | BHEK | REE | A
T2 B g | T
E 2 1 3 8 2
KEH 0 5 0 4 0 1
8 AR 5 4 1
ERARAS
FER i 3 0 4 0 1
E 9 3 7 5
KRR 1 2 0 0 0 0
w B AR 1 1
ERARES 1
FRH 2 5 0 5 0 0
E 2 7 3 1
KRR 0 7 0 0 0 0
=E AR 7 7
ERARAS 0
FER 0 0 0 3 1 0 4
E 9 5 5
RER 0 4 0 0 0 0 4
R AR 4 4
ERARES 0
FEH 0 i 0 0 0 0 1
E 2 1 1
KRR 0 0 0 1 0 0 1
Bl AR 1 1
ERARAS 0
FER 0 0 0 0 0 0 0
E 2 1 5 1 7
RER 1 1 0 1 0 0 3
Riepi A EIRE 1 1
EHABES 1 1 2
FER 0 4 0 0 0 0 4
E 9 4 3 7
KRR 0 0 0 0 0 0 0
T AR 0
ERARAS 0
FER 0 4 0 3 0 0 7
E 2 11 12 5 2 30
REH 9 8 0 1 0 2 20
YN AR 9 7 1 2 19
ABAEAS 1 1
TR 2 4 0 4 0 0 10
E 9 1 1 2
KRR 0 0 0 0 0 0 0
REEET AR 0
ERARES 0
FER 0 0 0 i 1 0 2
E 2 1 4 2 7
RER 1 2 0 2 0 0 5
STEEH AR 1 2 2 5
ABAEAS 0
FER 0 2 0 0 0 0 2




FRIFE PRUBRREREZRER

H31.1.13IR%
(Bif: A)
i . ﬁﬁ.i = Btk | BHEK | REE | A
T2 B g | T
E 2 2 2
KEH 0 0 0 0 0 0 0
Re ey AR 0 0
ERARAS 0
FER 0 2 0 0 0 0 2
E 9 1 3 4
KRR 1 2 0 0 0 0 3
S AT AR 1 2 3
ERARES 0
FRH 0 i 0 0 0 0 1
E 2 3 2 5
KRR 0 3 0 0 0 0 3
BE T AR 3 3
ERARAS 0
FER 0 0 0 2 0 0 2
E 2 7 3 1 2 13
RER 7 2 1 0 0 1 11
5% BT AR 7 2 1 1 T
ERARES 0
FEH 0 i 0 0 0 1 2
E 2 1 1
KRR 0 1 0 0 0 0 1
4 SR T AR 1 1
ERARAS 0
FER 0 0 0 0 0 0 0
E 2 4 4
RER 0 0 0 0 0 0 0
S AT A EIRE 0
ABAEES 0
FER 0 0 0 4 0 0 4
E 2 25 64 i 35 2 6 133
KRR 20 37 1 9 0 4 71
- AR 19 34 1 9 0 4 67
ERARAS 1 3 0 0 0 0 4
FER 5 27 0 26 2 2 62
RRE 80.0% 57.8%  100%  25.7% 0.0% 66.7% 53.4%




